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QUESTION 1

A user is selecting software to use to prepare handouts for a presentation. The user would like the information to be
easy to format and printer friendly. Which of the following software types should the user select?

A. Word processing

B. Spreadsheet

C. Text editor

D. Visual diagramming

Correct Answer: A

QUESTION 2

An employee is asked to generate a report on a student information system. The employee uses spreadsheet software
and connects to a remote database to pull data for the report. Which of the following types of application architectures
did the employee use?

A. Standalone application

B. Client-server application

C. Web application

D. Cloud application

Correct Answer: B

QUESTION 3

A user installs a wireless router and opens a browser to modify the settings. Which of the following installation types
does this describe?

A. Web-based

B. Plug-and-play
C. Driver-based
D. Server-based

Correct Answer: A

QUESTION 4

Which of the following is a benefit of embedded operating systems?
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A. Frequent updates

B. Ability to run multiple applications

C. Easy to transfer data between systems
D. Resource efficiency

Correct Answer: D

QUESTION 5

In which of the following categories do smart devices belong?
A. Appliances

B. Multifunction devices

C. loT devices

D. Mobile devices

Correct Answer: C

QUESTION 6

A user sends a message to a family member via a public instant messaging application. Which of the following BEST
describes how long the message will remain on the application\\'s servers?

A. No less than one day from sending
B. Only until read by the family member
C. As described in the terms of use

D. No more than 30 days from sending

Correct Answer: C

QUESTION 7

Which of the following is something found on a laptop but not on a tablet?
A. Local storage

B. Keyboard

C. Wired Ethernet connection

D. Display
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Correct Answer: B

QUESTION 8

During a power outage, a server with redundant power supplies shuts down despite being connected to a UPS. The
technician determines that the UPS has failed and replaces it. The technician then separates the power supplies to
connect them to two separate UPSs. Which of the following troubleshooting steps did the technician just accomplish?
A. Implement preventive measures.

B. Establish a plan of action.

C. Document findings/lessons learned.

D. Test the theory to determine the cause.

Correct Answer: A

The technician actually took action rather than making the plans to do so. A is correct due to the implementation If he
didn\\'t already do that it would have been the plan

QUESTION 9

An application developer needs to test multiple operating systems on one host. Which of the following would be the best
choice for the test server?

A. Type 1 hypervisor OS
B. Server OS

C. Embedded OS

D. Workstation OS

Correct Answer: A

QUESTION 10

A developer needs to add a table to a database. Which of the following database activities should the user perform?
A. UPDATE

B. ALTER

C. CREATE

D. REPORT

Correct Answer: C

Data Definition Language (DDL) commands refer to SQL commands that add to or modify the structure of the database.
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Some examples of data definition commands are:

CREATE—this command can be used to add a new database on the RDBMS server (CREATE DATABASE) or to add a
new table within an existing database (CREATE TABLE). The primary key and foreign key can be specified as part of

the table definition.

ALTER TABLE—this allows you to add, remove (drop), and modify table columns (fields), change a primary key and/or
foreign key, and configure other constraints. There is also an ALTER DATABASE command, used for modifying

properties of the whole database, such as its character set.

DROP—this is the command used to delete a table (DROP TABLE) or database (DROP DATABASE). Obviously, this
also deletes any records and data stored in the object.

CREATE INDEX-specifying that a column (or combination of columns) is indexed speeds up queries on that column.
The tradeoff is that updates are slowed down slightly (if the column is not suitable for indexing, updates may be slowed

down quite a lot.) The DROP INDEX command can be used to remove an index.

QUESTION 11

Which of the following is the number of bits in 8KB?
A. 8,000

B. 16,000

C. 32,000

D. 64,000

Correct Answer: D

QUESTION 12

Which of the following statements BEST describes binary?

A. A notational system used to represent an “on” or “off” state

B. A notational system used to represent media access control

C. A notational system used to represent Internet protocol addressing

D. A notational system used to represent a storage unit of measurement

Correct Answer: A

While people find decimal easy to use, computers use binary to calculate and process information. Binary is a
numbering system where each single digit can express only two values, in the range 0 to 1. The reason binary works

well with computers is that these two values can represent the off/on states of the transistors that make up computer
memory. Binary can also be referred to as base 2.
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QUESTION 13

Which of the following is an IP address?
A. Ox64F32

B. 00:0F:AC:17:2F:32

C. 10010110

D.172.0.0.1

Correct Answer: D

QUESTION 14

Which of the following would MOST likely prevent malware sent as compromised file via email from infecting a
person\\'s computer?

A. Email previewing

B. Patching

C. Clear browsing cache
D. Kill process

Correct Answer: B

QUESTION 15

Which of the following is used to protect intellectual property while requiring the owner to provide the public with working
details?

A. Patent

B. Trademark
C. License

D. Copyright

Correct Answer: A
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